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AUTO ELECTRIC EQUIPMENTS

fAuifa wa . d7 92) [sifereRaw 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70
Pz () FUH I AT B, 919 4 @ fl ar & I G |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii) T Y9 & G} YT &) HHAR T GrY & Fld |
Solve all parts of a question consecutively together.
(iii) YR e H1 79 98 @ I Filord |
Start each question on fresh page.
(iv) #ﬁwﬁ#mﬁ##r@:ﬂﬁwmﬁm?;
Only English version is valid in case of difference in both the languages.

o 1) areel & forega ftra et worreft &
(a) U Hael ST HEE | (b) & FEE I FQE |
(c) =R Faet IEMHE 2 | ) @ FEe I HAE |

In insulated return system of the vehicles

(a) Uses single cable (b) Use two cables

(¢) Use four cables (d) Use three cables
() ard S § i #d 2

(a) <had tE® (b) hae ol

© Imata@amd (@ IIRE@T (b) Q1 &
Motion in the pneumatic actuator is

(a) only linear

(b) only rotary

(c) Above described both (a) and (b)

(d) None of the above described (a) and (b)

(3) amﬂiafr&wﬁqﬁ-@m%

(@) uHeH (b) I
(c) st (d) dred

Pneumatic circuit does not contain

(a) Compressor (b) Air tank
(¢) Ammeter (d) Valve

(1of8) P.T.O.



MA307
4

)

(6)

(7)

®

®)

(2 of 8) 374
wfegfe o frepra 1 39aim & # '
(a) Gonom v feEd (b)) 95 o P e
(c) uweE e d (d) Gwardy frea d
Feedback control system is used
(a) inopen loop control system (b) in close loop control system
(c) inisobaric system (d) in isothermal system
BTEEYA (9.8, Haet At At
(a) W fredew (b) TR A
(c) S A (d) veuod fEa=d
High Tension (H.T.) cable is connected
(a) to contact breaker (b) to spark plug
(¢) tocondenser (d) to ignition switch
fererea = o a1 it &+ g st 6 e gl a2
(@) 3000 Fr= gfa dve (b) 4000 Hv3= ufd AHvE
(c) 2000 %7 ufq Hvg (d) 200 %7 gfy Jve
Frequency of metal tone disc in electric horn
(a) 3000 vibration per second (b) 4000 vibration per second
(c) 2000 vibration per second (d) 200 vibration per second
HR I F wferii= = i fopan sman 2
(a) ¥feuer s md ureft gro (b) @lgm
(c) IETEHI G (d) SEEEgE
Car heater element is heated
(a) by hot water of radiator (b) by battery
(c) by alternator (d) bydynamo
397 ATt 6t g§ 1 IR “@relt” W S @ & e 2/
(a) THYFeH yEmiEaa a8 | (b) TR H AR |
(c) wrymEfusEIET (@) I
Cause of fuel gauge needle remains continuously at “Empty” is/are
(a) tank unit not earthed (b) float punctured
(¢c) float arm sticking (d) All of the above
Freetet i fofa wrw <6t et 2
(a) WHHT (b) TAW
(c) ohTEA Il 9 d) VAW
Output of alternator is received
(a) at frame (b) atrotor
(c) at carbon brushes (d) at stator
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(10) FeeEet & Uahe gfe e # g 8
(a) drees Frams (b) um FrmEw
() e e = d wrf@
Single-unit regulator of alternator contain
(a) voltage regulator (b) current regulator
(¢) cut-out relay (d) load relay

(11) Foao Heel & fedias e d #d

(12)

(a) W& AR % dga | gAE (b) @Tieh aR % aga ¥ g9
(c) W& RS FS gAE (d) =i X H FB guE
Secondary winding of ignition coil contain

(a) more turns of thick wire (b) more turns of thin wire
(c) afew turns of thick wire (d) afew turns of thin wire

St 3o AFren § Yeaer SV EHTITd! #lal 8

(@ sHATAS (b) 9 ATTHH %

(c) HEhddHhqa® (d) draTERT AHH &

Ignition advance in centrifugal advance mechanism is proportional to
(a) Engine speed (b) Engine temperature

(c) Pressure of lubricant oil (d) Atmosphere temperature

(13) 3o fafestd Fftrehaw g &1 9178T

(@) AFH. w (b) I H.
© AAH AwmevEd  (d) A& . A 12° 918

Maximum pressure in engine cylinder should be
(a) atT.D.C. (b) atB.D.C.
(c) about 12° before T.D.C. (d) about 12° after T.D.C.

(14) e T T 1 SHIA WA T T & il 2

(a) QI (b) i Tom
(c) = (d) =wRIen
Life of resistor spark plug compare to normal spark plug is
(a) two times (b) three times
(¢) half (d) four times

(15) Wﬁmuﬁﬁmwwwi
(a) GoTeh farede® g (b) TETETA
(c) TFWEW (d) feoraes gr
Ignition coil triggers in electronic magneto ignition system
(a) by contact breaker (b) by diode
(c) by timer (d) by distributor

P.T.O.
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(16) Tt 3 31 w9 A ferega Goha Icaa A areft Ifew
(a) BN (b) ZTEEIE
(c) HWH (d)
A device for producing an electrical signal from another form of energy
(a) transformer (b) transducer
(c) sensor (d) motor
(17) ef=R :
(a) Toeagadi fiaa (b) @it fea=
(c) wEaafera feas (d) e =fera feaa
Horn relay is
(a) Electro-magnetic switch (b) Mechanical switch
(¢) Hand operated switch (d) Pedal operated switch
(18) sieh Sarar sl &1 dgq & &
(@ 12W (b) 50-60 W
(c) 5-10W d) 30-35W
Filament of brake warming light is
(@ 12W (b) 50-60 W
(c) S5-10W (d 30-35W
(19) AfamramEa 22 adh § a2 e ShrEdt g 2
(a) el (b) WaEElE
(c) ERWEfH (d) ITw gt
Reflector used in automobile head lights is
(a) spherical (b) parabolic
(c) hyperbolic (d) All of the above
(20) sfeam =reH @
(a) STgaT e (b) gd wAfa =
(¢) i i m 7o e (d) ZELIEEA
Bendix drives are
(a) inertia drives (b) pre-engaged drives
(¢) over running clutch drives (d) dyer drives
(21) el | iftsan aw yarfaa adt 2
(a) #afid (b) #HH
(c) B aferi® (d) shfeh AT d
Maximum current flows in vehicles
(a) in head lights (b) inhorn
(¢) in fog lights (d) in cranking motor
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(22) wifén qen %0 9re W Hftrep Uad Icaa Ll &
(a) HHfS-aRvE AX (b) ¥e-913E HiE
(c) S-S WK (d) I | & B TR
High torque at starting and at low speed is produced by
(a) series wound motor (b) shunt wound motor

(¢) compound wound motor (d) None of the above

(23) ot gifrdigpa faames # & &

(a) iR (b) S EE
(c) argafin uige (d) yfada
Fully transistorised regulator does not contain

(a) transistor (b) zener diode
(c) vibrating point (d) resistor

(24) wga F =i e e s

(a) FEXIEAH (b) we e

(c) <9 = (d) @ =T §

Very low current is supplied

(a) in booster charging (b) in slow rate charging
(c¢) in trickle charging (d) innormal charging

(25) ret Srefivan Aot 1 TS Wie 1 afha Qe g 2

(26)

(a) S TEEES (b) Freper wuaETEe

(c) el s (d)

Active material of positive plates in Nickel cadmium battery is
(a) Lead peroxide (b) Nickel peroxide

(c) Cadmium oxide (d) Lead
da-ara et Saa P dees =fawaa+

(a) 2.100 (b) 1.050

(c) 0.840 (d) 6.000

Cell voltage of the lead acid battery = specific gravity +
(@) 2.100 (b) 1.050

(c) 0.840 (d) 6.000

P.T.O.
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(27) A =t wfsean qegel 83 & arg @2h |§
(a) TRy HAfufr ag & ardt 2 |
(b) vETafes Fftfermn s wd 2 |
(c) TSN g gt wiel W fwad 2 |
(d) Aadia g Homers il W FAdadi # |
After completion of recharging process in battery
(a) Chemical reaction stops
(b) Chemical reaction continues
(¢) Hydrogen gas liberate at positive plates
(d) Oxygen gas liberate at negative plates

(28) Fefirm wlier o srar 2
(a) I H1 T W1 & fere
(b) & % dieew A & farg
(c) w2l & TEmfie g9 e i & fog
(d) I et
Cadmium test is done
(a) for measuring density of electrolyte.
(b) for measuring voltage of the battery.

(c) for finding chemical condition of the plates.
(d) All of the above

(29) T 30 % Hiet 3§ e, 3 d8 Sl F wer favara @m

(@ 6die (b) 1242

(¢ 2.192 (d) YEdE

Potential difference between two lead rods placed inside the dilute sulphuric
acid, will be

(a) 6 volt (b) 12 volt

(c) 2.1 volt (d) zero volt

(30) &t i gmar ff et 2
(a) Toade =2 @ W (b) il I HITTE F ITHR T
(c) TS H HEAT R (d) Iutes aft
Capacity of the battery depends upon
(a) number of plates per cell
(b) thickness and size of the plates
(c) quantity of the electrolyte
(d) All of the above (1x30)
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() e drg-ufirg dzh e agen fbw wr i sifvvers i i R 7
In which unit, the capacity of a lead-acid battery is usually expressed ?
(i) U eI Feetier &1 fita fra yer Frafia ferm s @ 7
How the output of an automotive alternator is regulated ?
(iii) A B & weHr ) B e qon i 7
Which kind of starter motor should be and why ?
(iv) mﬁﬁm,%mﬁ,ﬁmwﬂmmmaﬁ%ﬁaﬁw i

Write down the functions of Fog lamp, brake warning light, direction indicator
and hazard warning light.

(v) TrESEE Ul HagH H H1 TR ?
What is the difference between transducer and sensor ? (2x5)

(i) aﬁﬂmmaﬂaﬁ%@ﬁaﬂmaﬁ&ﬁwmamt@mmm
1 g 3@ i smfEa Fifd |

Explain Earth return system in detail and draw the circuit diagram of positive and
negative earth return system.

(i) 24 dee, 12 dee adl 6 dree @ $ fraT Hifd |
Discuss 24 volt, 12 volt and 6 volt system. (7+3)

(i) ég-@gﬂzﬂﬁmmaﬁaaﬁuﬁﬁ& |
Describe the construction of the lead-acid battery with sketch.
Giy feer aw au fer dieedr a2b HAYE da] ! qEsEd |

Explain the constant current and constant voltage battery charging systems. (5+5)

ﬁg-ﬁs&ﬁﬁﬁmmm,ﬁ@wmmmwmm
[ quid HIf |

Describe the specific gravity test, Open and short circuit voltage test and Cadmium tip
test for the lead-acid Battery. (10)

() I A R 7 s |
What is ignition advance ? Explain.
(ii) o7 e ) &TEe % e v it |
Describe the construction of spark plug with sketch. (416)

ﬁﬁﬁmmﬁwaﬁaaﬁﬁﬁﬁwwﬂg@mﬁaﬁwaﬁﬁil

Describe the Magneto ignition system with sketch and Compare it with the coil
ignition system. (10)

P.T.O.
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R f3—efayes o aTquTdt &1 ey SR g v ik |

Describe the bi-metallic type engine temperature indicator with circuit diagram.
(i) < ufean area % G A qiey S sRfed HiE |

Draw the general wiring diagram for a two wheeler vehicle. (5+5)

9. fuafafea wdfhw feoft Hifs
Write short note on followings :
(i) ST FATEE! i JHETIHAT |
Necessity of drive mechanism.
(i) U 9g dieear FEm® |
Single stage voltage regulator.
(iii) STATER weHR 1 faega & |

Diaphragm type electrical horn. (3+3+4)



